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Sr Questions Answers Choice

1 Information can flow in either or both direction between
A. Clients
B. Clients and servers
C. Servers
D. None of the given

2 Router detects datagram---------than network MTU
A. Larger
B. Smaller
C. Equal
D. None of the given

3 Address mask defines how many bits of address are in suffix?
A. True
B. False
C. Not Sure

4 Mapping between a protocol address and a hardware address is called Address Resolution.
A. True
B. Flase
C. Not Sure

5 Like most application programs, a client and server use a transport protocol to communicate.
A. True
B. False
C. Not Sure

6 ICMP message transport is acted upon by getting ICMP encrypted in IP.
A. True
B. False
C. Not Sure

7 One repeater ---------------, two repeaters --------------- the maximum cable length limitation.
A. Double, triple
B. Double, 4 time
C. Double, half
D. half, triple

8 _______ includes a 32-bits address mask with each address, which allows the address to be
classful, classless, or subnetted.

A. OSPF
B. RIP
C. BGP
D. None of the given

9 __________measures distance in network hops, where each network between the source
and destination counts as single hop

A. BGP
B. OSPF
C. RIP
D. Non of these

10 Which of the following protocols allows the sender and receiver to enforce polices.
A. RIP
B. OSPF
C. BGP
D. RIP and OSPF


